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Instructions :

(1)
(i)
(i)

(iv)

v)

(vi)
(vii)

All questions are compulsory.

Question Nos. 1 to 5 are objective type questions. Each question is allotted 5 marks.
Internal options are given in Question Nos. 6 to 26 each.

Q. Nos. 6 to 10 carry 2 marks each and answer should be given in about 30 words.
Q. Nos. 11 to 14 carry 3 marks each and answer should be given in about
75 words.

Q. Nos. 15 to 21 carry 4 marks each and answer should be given in about
120 words. ‘ - :

Q. Nos. 22 to 26 carry 5 marks each and answer should be given in about
150 words.
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1 wér fawew ghw o2 7 5
() wdEaT % g9 4RA ¥ Pa e ey a7 |

(31) 542 @) 552
@) 562 ‘ (B} 1572
(i) @ @ wneer feg ad # g3 e
(1) 41 1994 @) @ 1995
(@ g1 1985 @ &1 1990
Gii) ooty fawer fr=ifed § 4 fraw ddfam ® 7
(an) TR (@) wRa-dm
@) wrE—a (@) AT
(iv) @gﬁm%%ﬂﬁﬁwﬁ&[%&ﬁaﬁ%?
(a1) < @ =
(@) et (®) =&
(V) HATSAGT B —
(a1) faga @1 Hosdliwmeor @) wEfE B
(@) YET BN ThIHLO (3) wRimhaE

Choose the correct answers :
(i) How many princely states were there at the time of freedom of India ?

(A) 542 : (B) - 552
(€) 562 (B) 372
(ii) In which year SAARC was founded ?
(A) 1994 (B) 1995
(C) - 1985 (D) 1990
(iii) Operation Gibralter is related to which of the following ?
(A) India — Pakistan (B) India — China
(C) India — Nepal (D) India — Sri Lanka
(iv) What is the colour of the flag of UN. 7.
(A) Red ‘ (B) Blue
(C) Green (D) Orange

(v) Globalization is :
(A) Globalization of World (B) Cultural Revolution.
(C) Union of States (D) Provincialization
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(i) 7ehroe Ry eea § . Wor o E
(i) ‘HEr W A w9 B3

(1) Hgw T faEw T AT Sl #

() sngfrETT @ Ted o 3

(v) =afra @0 o & Tt BT ¥

Fill in the blanks :

(1) take part in non alignment conference.
(i1)  SEATO was founded in

(iif) UNO day is celebrated on

(iv) The first condition of modernization is

(v) person hindranciate for freedom.

3 Ude & U g H SaT dieg -
(i) wa fasg 9% ¥ fpg UeK &1 go ¥ 7 '
(i) =we o fopa &= Wed W HEAwy Rua ¥7?
'(ii'i) YR TS §9 H1 539 {69 BET ST & 7
(iv) dsdmeeeer o fpw W & ST War &7
(v) 'PWG & 91 7 war B 7
Write the answers in one sentence each :
(i) Which type of member is India in World Bank ?
(i) The head office of which regional organization is situated in Nepal ?
~ (iii) What is called the heart of UNO ?
(iv) By which name of globalization is known ?

80 What is full form of PWG 2
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4  wa/emd fWag 5
() Te-Fruaw el & S @ owHdA B
(i) &1 1950 ¥ Yuw ¥ Wby & WA gE
(iii) 9T 30 SrRER 1945 & dga U G bl 9ee S0l
(iv) ufeds sTgREmeTe @ ueel o ¥ ' -
(v) WRdE SReE dear ud FedEdr b1 ogyd e ¥ aE
Write True/False : Z“E_:
(1) Nén-alignment follows the race of weapons. s
(i) Democracy is established in 1950 in Nepal. e
(iii) India became member of UNO on 30! October, 1945. i;
(iv) Change is the first condition of modernization. : :j
(v) Constitution of India is unique mixer liberalization and hardness.
e
5 = W T | & 5
) @ 8
@ . . = - L}
(i) wavzg &% sfegd aEmEel —  HauiPie "@meR o O
(iii) s whs g | ST P
(iv) e dve s ~ 1997 S
(V) UTHN] SmER §iY S - eTEH
Match the correct pairs : ;‘
(A) | ®) =
(i) B. N. Rau —  Pune s =
(ii) Servants of Indian Society — Constitution advisor
(iii) Balika Samruddhi Yojna - 1968
(iv) Gorkha Land Movement — 1997
(v) Nuclear Non Proliferation - Assam
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6 SIFE ®HIT H|T E7 ' : | 2
What is Azad Kashmir ?
| se@n | OR
ﬁmﬁmésﬁﬁamﬁh%ﬁwaﬁﬁmwwﬁﬂgﬁ?
Which princely States createct_;—groblems by taking integration ?

u’

7 smﬁﬁéﬁmﬁm@rawaaﬁww =R

,,,,,

st | OR
W%M%ﬁﬁ@?ﬁaﬁ%ﬁﬁmsﬁ?ﬁ@reﬁ ?
When did India send 1ts ﬁrs‘& .mlhtary troop to Kashmir ?

{13
8 Hauhih d@EHR dHE & 7 . 2
! Who was COHStltuUOH adv1sog'3?
%ﬁim joR

S
Who is called ‘Key’ of Constitution ?
| S —
9 q&ﬁuﬁaéﬁvﬁéﬁraﬁwﬁvﬁﬁél e 2
Write any two aims of European Union.
sy /| OR
gefvear @ @ oo ¥ 0T
What is means of Non-alignrfﬁ%m 2
10 Reen @y % % @ W v ' 2
Write any two provisions of Shimla Agreement.
' sy [ OR
Fendg Tq wE Rew 3P
" Where is situated Kachhatibu Tapu ?
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11 wfgem Foo affa & gsl & 9w fafeg) 3
~ Write the name of members for making Constitution committée.
g /| OR
gfqum fEir & 99 egsgsad fafag)
Write the three needs for making Constitution.

12 9@ & @iz OF Hifae sl ey 3
Write any three fundamental duties of citizens.
F¥a [ OR

At % B dW Aifaw afue fafaw)

Write any three fundamental rights of citizens.

13 dga g €99 % B AW e fafew 3

~ Write any three aims of United Nations.
- 3w/ OR
g g w9 B e ud geitee uftug % w9 Sevd faRaw)
Write any three aims of Economic and Social Council of
United Nations.

14 Preeieer % am § oeam wgE @ ee-ae o E 7 3
~ What are the main problems of hindrances in the way of disarmament ?
sy [ OR

TAwpl B g0 9W fWied gu s@s o seed fafag)
Write the full name of “UNESCO” and give two objectives of it.

15 DR emER @ q AW RiReY BT gEh 9 e Riaw) 4
Write the full name of “NITI Ayog” and give its three .functions.
s | OR

7y, UsST o o & ey f@iau|
Write the M.P. Backward Class Commissions functions.
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16 HRd ¥ éeaE & Sg¥ % AN R g 4
Write four causes of rise regionalism in India.
s /[ OR
e sEAHar & 9 e fafay)

Write four reasons of economic inequality.

17 s qRen omEr & e fWiag) 4
Write the functions of National Commission for Women.
sy | OR

g A wE el G @ ke

Write four benefits obtained from forest.

18 s fwr AR % i a@ Rifa) ‘ | 4

Write the determining factors of Indian Foreign Policy.
| sEr | OR ‘
HRA &0 [e—Fuear o Afd o ™ S & Hie fafay)

Write reasons for the adoption of Non-alignment policy by India.

19 g6 & qu A fafad gu sas O Sged faRau| 4
Write the full name of “SAARC” and give its three objectives.
: g /| OR
SRR qa1 ®Y & =X & faiay |
~ Write four functions of International Monetary Fund.
4

| YqRa-erier ordfie Ty Y % ed G frg Rfeg) 4

. Write any four points of Indo-U.S. Non-Military Nuclear Agreement.
: g [ OR

qieTh< GH3Id & big @ qed gy fafag)

Write four main provisions of Tashkent Agreement.

21 sfre K wE R | 4

Write the four features of modernization.
iy | OR
ST % e fasuand fafaa)

Write four features of liberalization.
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23

24

25

26

g gfed AR & 7oA iR Egiodl @l ==l difeg |
Discuss formation and recommendatlons of State Reorganization
Commission. 3 :

& sem | OR
BT GIET b G bUfaam ¥ wged U B R’ yfrer wWro?
What was role of United"Nations in the way of solving of Kashmir
problem ?

deadig O & 9 ugr@ a%sa g |

Write the ﬁve Ob]eCtIVGS of Five Year Plans.
o s [ OR

e % 9" 35wy fieg|

Write the five objectives—of planning.

e ¥ T SN9d ¥ ? IHb TEd b BN B! b b UM e |
What is the meaning off‘iRegionalism ? Write stopping of measures
for the causes of rise it.

~— s [ OR

-

Ww%?sﬂﬂst{a‘i@%w%ﬁml

- What is meant by Naxahsm and write the causes of its orlgln

émﬂwﬁwaﬁm-mﬁ%@@ﬁmmml

Write the measures to ke the consumer protection more effective.
s sa [ OR

ewrﬁw/mﬁma%aﬁéw&rs‘mmﬁf@m

Write five characteristics of co- operative organization/movement.

A fader Aifd & Rygial &1 "@&w o v @il
Describe briefly the principles of Indian Foreign Policy.

st [ OR
TIa-dfea @ o1 §AW 3T TEG AgH F MY STERl dNe Mgl
What is meant by Detente ? Write factors accountable for emergence
of Detente ?
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